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Evaluate each function.

1) fn)=3n-5:Find £(1)

Perform the indicated operation.
3) flx)=x+3

)= -2x

Find (£ + 2)(x)

b z; =3
=413
Find () - ¢lt)

9 ey)=—x-1
=2x+5

Find glix))

2) #(n)=n®+n; Find #(4)

4)§8 2x-5
3P -x

Find (g + 7)(x)

6) fln)=dn+2
é:?l?;i;il)

8) xg:x+3
=x+1

Find gx) - W(x)

=7
oy

Find el /(x))
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Factor the common factor out of each expression.

1) 217 —21x+ 14 2) 5x* 253 4257
3) 3% +3x 4) 2855+ 245 — 80
Factor each completely.

5) 6m% +42m 6) X —4x-12

7 pPH4p-32 8) > —10x

9) 5K - 15k-50 10) 357 +21x— 54

Solve each equation by factoring.

11) ¥* - 10x+21=0 12) a®+a-56=0
13) P+ 8+15=0 14) n* +3n=0
15) 5 +4b+4=0 16) b*—6b+8=0

17) p*+10p+22

18) b -b-58=-2

19) x* —8x+3=3 20) p?-Tp+6=—4




